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ECONOMICS

Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the questions
ALLOTMENT OF MARKS

PART—A / Relf—s

Q. No. 1{ a—f) carries 1 mark each : 1x6 = 6
Q. Nos. 2-7 carry 2 marks each : 2x6 = 12
Q. Nos. 8-12 carry 4 marks each : 4x5 =20
Q. Nos. 13 & 14 carry 6 marks each : 6x2 =12
Total = 50
PART—B / Ret—y

Q. No. 15( a—f) carrieg 1 mark each : 1x6= 6
Q. Nos. 16-21 carry 2 marks each : 2x6 = 12
Q. Nos. 22-26 carry 4 marks each : 4x5 =20
Q. Nos. 27 & 28 carry 6 marks each : 6x2 =12
Total = 50

Total (PART—A & PART—B) : 50+50=100
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PART—A
Rer—

( Introductory Microeconomics )

1. Answer the following :
ot frafienes Tes fr -

(a) State the law of supply.
e RfRCe fer )

(b) What is break-even point?
serest g 72

(c) What is the shape of a perfectly inelastic demand
curve?

I SiEfegIeR nIftn (arR Sl g ?

(d) What does a point below the production possibility
curve indicate?

Teo{Ie AW (IIN wore Tafes 7% @B [ e 3¢ 9

(e) What is market economy?

T HYAS F 2
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(/ What do you understand by price ceiling? 1
v O% [ e & @2

2. What is opportunity cost? Explain with an example.

1+1=2
S Y T 9 G5! SHIRIPR TR 0 1
3. Write the ]aw of variable proportion. 2
RGN weperre R 741
4. State the law of demand and draw a demand curve.
1+1=2
iR RRT fray s F19CS GO B (I =13 391 |
5. Prove that for g firm, price = average revenue. . 2
219 91 (T GRICAT Qo fODF I, T = 9IS & |
6. Write the conditions of firm’s equilibrium. 2

2B SRPTOR TSR o |

7. How does imposition of per unit tax affect supply curve of
a firm? 2

GFF F9 S ARSI el @A (I A®IR® I 2
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8. Discuss the characteristics of perfect competitive
market. 4

o AfScaferEe I@TT CARERTIR Sl 4 |

9. With the help of demand and supply curve, explain how
market equilibrium is attained. 4

BIfRAT S (TSI (I TS IQT S[PS] 29 2l I 397 |

10. Explain the law of diminishing marginal utility. 4
TR 2P Seicaifarer RS amm w4 |

Or / 371

What is price elasticity of demand? DPiscuss any one

method of calculating price elasticity of demand. 1+3=4
iR T R & 0 o w Rfegere TR TR R @ G
ABfS SCAA 47 |

11. Define production function. The production function of a
firm is given as Q = 5VLK, where Q is output, L is labour
employed and K is capital employed- Determine the level of
Q, when L =16 and K = 36. 1+3=4

BRI FI S B | @9y 2P B Foi Cxex O = SVIK,
TS 0 R Teomm ofRme, Lotz AR ww R e K

&R e e s 1 L =16 91F K =36 T QI “RwA
e 21
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Or/ 931

Discuss the determinants of supply. 4

TS TR S0l 1 |

12. Write the differences between monopoly market and
monopolistic competitive market. 4

G e i GPCENEH ARSPIOR &R NYFFERR 1 |

13. Explain how a consumer attains equilibrium while
' consuming two commodities. 6

WO T TSR cuae SO S (AN SISl S ¢, T
sall

Or / 9=y

What is an indifference curve? Draw an indifference curve
and discuss its properties. 1+1+4=6

FTers @0 B2 qom RETF @ S 39 WF W @REPER
A 91 |

14. Define average ﬁXed cost (AFC), average variable cost
(AVC) and average cost (AC). Draw the AFC, AVC and AC
curves indicating thejr interrelation. 3+3=6

TS &3 IW (AFC), TS *Rgénaiel I (AVC) WIF o I (AC)T K
o1 AFC, AVC WIF Acg oW R afdTfre ants @i-
(L A 40
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Or / S3[1

Calculate TFC, TVC, AVC, AFC, AC and MC schedule from

the following table : 6

©e{ ©IfeP °R1 TFC, TVC, AVC, AFC, AC & MC Sl sml
9l
Amount of Production (Q) | O 1 2 3 4 5 6
7T [T
Total Cost (TC) 40 |100|120(130( 150|190 |250
PIF
PART—B
Re—

( Statistics for Economics )

15. Answer the following :
wore fraiRenes Tes fam

(a) Who forwarded the welfare definition of economics?

SefRET FANIT IR (I S9RGIRRE ?

(b) Write one limitation of statistics.

ARRYN REI GB1 NyRTe! B |
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(c) Write the direct method of calculating arithmetic mean
in case of discrete variable. 1

Riftzy 7518 (FAO TR NI TS 2OFF AHROCo! el |

(d) Write the full form of NSSO. 1
NSSOF 5= o1 ol |
(e) Who is known as the father of statistics? 1

o R Prect I19 Sl TH 2

() Write one difference between  diagrammatic
presentation and graphical presentation of data. 1

S By Borgrem A CTIBAN ORI Aerd GB1 <1 o7 |
16. Calculate range and range coefficient from the following
data : 1+1=2

T SRR o1 2y E PN BARS SN 3
12, 15, 18, 21, 24, 27

17. Write two differences between discrete variable and
continuous variable. 2

Rtz 5o e Rfew pered O 1“4 v |

18. What do you understand by relative measures of
dispersion? 2

ResereR seefee Mo force & 381 ?
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(8)
19. Write two differences between histogram and bar
diagram.

R’ s e foag b1 onelem o |

20. Write two limitations of ‘direct personal investigation’
method of data collection.

TR SRATT ‘2T IS PR’ ST 11 STRS! B |

21. Write two features of statistics.

R e o1 caf¥ies fors o

22. Briefly write about the methods of classification of data,

SR ARAIIN Taf TR ey vz forsi |
Or / 9311

Write the objectives of tabulation of data.

@%aﬁw*wwwa%mwmw§ﬁmn

23. The marks obtained by 9 students Of a class are given
below. Calculate mean deviation :

9B NT 9 T TR FAre 9 FIIN SR TS i 0zem | ofs Rvew
AR T '

22, 65, 40, 50, 38, 20, 70, 25, 75
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25.

(9)
Or / 41

Write a note on Lorenz curve. 4

MIG 59 R 9B (ORA Foran o

Calculate Karl Pearson’s correlation coefficient from the
following data : 4

o] O *IF1 el IO ST QIIE AN 97

X | 6 8 [12 11518 | 20|24 | 38| 31

1011211515 | 18 | 25 |22 | 26 | 28

Or / 91

What is rank correlation? Briefly outline its demerits.
1+3=4

TNET ADTER 1 7 T SPIRYPTR FRCw ot |

Calculate mode = from the following frequency
distribution : 4

OoY Il Reeme <191 I T 991 ¢

X | 0-10 {10-20|20-30|30-40|40-50|50-60|60-70|70-80

fl 4 12 | 18 25 16 9 7 3
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Or / 9311
What is median? Discuss its merits. 1+3=4
T 5 2 T SRR A 1 1
26. Write the characteristics of an ideal average. 4
BT e oT%R CIRBPTR oI |
27. Write short notes on : ' 3+3=6

5y o foran

(a) Wholesale price index
ARIR 7 IPIRT

(b) Consumer price index

TOTSIGIY T IPIRTF
Or / 9{1

Discuss the use of index numbe€r in the study of
economics. ‘ 6

SRS ST IpF TRYF IR A F |

28. Discuss the characteristics of a 800d questionnaire. 6

QY O 2PYRAN CIFBPTR ScaDA 4T
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Or/ 91

Draw a histogram and a frequency polygon from the

following data : 4+2=6

5o T A1 Bl RE’A S B AT TR W T
Marks Obtained |10-20|20-30|30-40|40-50 |50-60 | 60-70
ANYTFT
No. of Students ) 12 15 22 19 4
RIGY SRT

%* % %
’ 22C
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